ol

g

tod ab=a=b+5 2
@1 O 13

@ 8

°

@7

T 88T a, b i
® 5

5.

XS
ol
o8

o

Aol A 74 =

i

4

-

@ 4 B oA O Aolol 740 B R4t

©)

Qi
<+
il
| :
& ¥
Ty
T T
z Y
=
Nlo M
T

.
—_
N
T
=
Nfo
I <

o
Ho
—_
e}

B

® 374

@ 270
® 57

@ 470

O 174

) +(+1.2)

o 5 Al 23 71
® (-0.2) = (—1.4)

8.

® 5

A=A
i A
@ 4

It
@ 3

o
o] akb=2a—b,adb=a=bx15

9

@ 2

stole
a, bl o
239 2

o

Ao oA AR
2] -
54
D1

4.



P (47)-ar () = 52 A e g Fotelak

10. thgolx Adgtel 7V 2 48 o, A &

1 o

2tal @ ), a x b o] 27

il
S

<
T

Mo

5, +2, -1 0 42
Y 27 27 Y 4
1
ON( @ -3 ® -5
3
3 —
@ ©4




